 Ex 2) Rotary Indexing

o) .
* A machine is based on circular indexed table e |
that rotates 60° for each step. 5 sec process
time with 1 sec rotation time is required. 6
Determine the required motor power and
e
torque. e
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end wlu«’b = 07
rotakn  oe = 5°
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- Tnectin of Hulle: m = Tu’fr = T x 05" x 0.0 x 7300 = [[§.9 LJ
J = rzimr" = (46 LJ-M'\
Evl’hl—ilj 607 in ,ﬂﬂ- =D Mmak thﬂﬂj ﬂ(k‘r 3l9a
weat = =24 S n = 5 x(4) = w = 40’/ = 42
- Re-l...'rc.l 40f7u_ T = Jx = 46 x 4.2 = 615 Nm
Aversne powe :  KE = ’('le,\,.,ﬁ = 32117
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P, = KE = NS s
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Mot poue P = T-wau = 652 % 20 = | 12877 W




